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uestion No. 1 is compulsory
(2) Solve any three questions out of remaining five questions.
(3) Assumptions made should be clearly stated.
(4) Figures to the right indicate full marks.

Q.1 (a) Two dice are rolled, find the probability that the sum is
()Equal to 1 (i) Equalto4 (iii) Less than 13

(b) Use the laws of logic to show that
[(p—9 " ~q] — ~p is a tautology

(c) Determine the matrix of the partial order of d1v1sfb1hty g
Poset.Indicate those which are chains :
(1) A={1,23,5,6,10,15,30}
(2) A={3,6,12,36,72} :
Q.2(a) Find the complement of each element in“

i or Hamiltonian circuit, [6M]

[6M]
CpLeti x) =42, g( ) =X ‘2 and h(x) =3x for Xe R ,Where R= Set of real numbers. Fmd [8M]
’ f) (f g) (f f) (g.9 f W), g O h g

en,S is a]so an eqmvalence relatlon [6M]
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(b) Determine the generatmg function of the numeric function a.,where

D a=3+4" r>g
(i) a,=5 ,r>0

(c) Consider the (3, 6) encoding function e:B* — B¢ defined
¢(000)= 000000 ¢(001)= 001100 €(010)= 01001
€(100)= 100101 e(101)= 101001 e(110)~ 1101,
Decode the following words relative to a maximum . Jike fih
() 000101 (i) 010101

Q.5 (a)Determine the number of positive integers n whf
2,3 or5, -

- (b) Use mathematical induction to show that
1+5+9+...........+(4n—3) =n (2n-1)

(c) Find the greatest lower bound and'l PE
they exists in the poset (z+, / )-Where / is

Q6 () LetA= {1234}and LetR = (1,
closure by Warshall's algorihrn

(b) Let H= {[0], ,[3]} fin
group of Z;.
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